ALGUNAS EQUIVALENCIAS:
Si a, — 0, entonces:

sinay, ~ an ~ arcosin a,

tana, ~ a, ~ arcotan a,

a,
1 —cosa, ~ 5

sinh a,, ~ a, ~ arcosin a,
tanha,, ~ a, ~ arcotan a,
2
an

ha, -1~ =2
cosn an 2

11’1(1 + an) ~ Qp
In(1 - ap) ~-an
b% —1~a,lnb

e’ —1~ag,
Si a, — 1, entonces:

ln(an) ~ an - 1

Si z — 0, entonces:
Sinx ~ T ~ arcosine

tanz ~ = ~ arcotanzx
72
1—cosz ~ —

2

Sinhx ~ I ~ Qrcosing

tanhz ~ = ~ arcotanz
2

i
h —_— 1 ~y —
cosnT 2

In(l1+z)~z
In(1 —z) ~=
b* —1~zlnd

e -1~z

Si igr(ll f(z) = 0, entonces:

sin f(z) ~ f(z) ~ arcosinf(z), cuando z — ¢

tan f(z) ~ f(z) ~ arcotanf(z), cuando z — ¢

2
1 —cos f(z) ~ f(;:) , cuando z — q

sinh f(z) ~ f(z) ~ arcosinf(z), cuando z — ¢
tanh f(z) ~ f(z) ~ arcotanf(z), cuando z.— g

2
cosh f(z) -1 ~ f(f) ,cuando £ — @

In(1+ f(z)) ~ f(z)é, cuando z — g
In(1 - f(z)) ~<f(z), cuando z — q
b _ 1~ Inbf(z), cuando z — q

ef@ 1~ f(z), cuando z — o




